

A Parametric Type of the Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi Polynomials

H. M. Srivastava^{1,2,*}, Mohammad Masjed-Jamei³ and Mohammad Reza Beyki³

¹ Department of Mathematics and Statistics, University of Victoria, Victoria, British Columbia V8W 3R4, Canada

² Department of Medical Research, China Medical University Hospital, China Medical University, Taichung 40402, Taiwan, Republic of China

³ Department of Mathematics, K. N. Toosi University of Technology, P. O. Box 1618, Tehran 16315-1618, Iran

Received: 2 Jul. 2018, Revised: 2 Aug. 2018, Accepted: 8 Aug. 2018

Published online: 1 Sep. 2018

Abstract: By defining six specific generating functions, we introduce a kind of parametric Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials, we study their basic properties in a systematic manner. As an application of the introduced polynomials, we use them in computing some new series of the Taylor type.

Keywords: Appell polynomials, Apostol-Bernoulli polynomials, Apostol-Euler polynomials, Apostol-Genocchi polynomials, hurwitz-Lerch zeta function, Stirling numbers, Cauchy product and binomial convolution; parametric generalization, generating functions, computation of Taylor type series

1 Introduction

Let $f(t)$ be a formal power series in t . The Appell polynomials $A_n(x)$ defined by

$$f(t) e^{xt} = \sum_{n=0}^{\infty} A_n(x) \frac{t^n}{n!}, \quad (1)$$

have found remarkable applications in different branches of mathematics, theoretical physics and chemistry [2, 24]. Three special cases of these polynomials are the Bernoulli polynomials $B_n(x)$, the Euler polynomials $E_n(x)$ and the Genocchi polynomials [19] $G_n(x)$ (see [19]) that are generated by choosing in (1) the following values of $f(t)$:

$$f(t) = \frac{t}{e^t - 1}, \quad f(t) = \frac{2}{e^t + 1} \quad \text{and} \quad f(t) = \frac{2t}{e^t + 1},$$

respectively, so that we have

$$\frac{te^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad (|t| < 2\pi),$$

$$\frac{2e^{xt}}{e^t + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} \quad (|t| < \pi)$$

and

$$\frac{2te^{xt}}{e^t + 1} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} \quad (|t| < \pi).$$

In this sense, the Bernoulli numbers $B_n := B_n(0)$, the Euler numbers $E_n := 2^n E_n(\frac{1}{2})$ and the Genocchi numbers $G_n := G_n(0)$ have found considerable applications in Number Theory, Special Functions, Combinatorics and Numerical Analysis. It is clear that

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!} \quad (|t| < 2\pi),$$

$$\frac{2e^t}{e^{2t} + 1} = \frac{1}{\cosh t} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!} \quad (|t| < \frac{\pi}{2})$$

and

$$\frac{2t}{e^t + 1} = \sum_{n=0}^{\infty} G_n \frac{t^n}{n!} \quad (|t| < \pi).$$

The Apostol-Bernoulli polynomials defined by

$$\frac{te^{xt}}{\lambda e^t - 1} = \sum_{n=0}^{\infty} \mathcal{B}_n(x; \lambda) \frac{t^n}{n!}$$

* Corresponding author e-mail: harimsri@math.uvic.ca

($\lambda \in \mathbb{C}; |t| < 2\pi$ when $\lambda = 1; |t| < |\log \lambda|$ when $\lambda \neq 1$), where $\mathcal{B}_{n,\lambda} := \mathcal{B}_n(0; \lambda)$ denotes the Apostol-Bernoulli numbers, were introduced by Apostol [1] (see also [22]) in order to evaluate the Hurwitz-Lerch zeta function $\Phi(z, s, a)$:

$$\Phi(z, s, a) = \sum_{n=0}^{\infty} \frac{z^n}{(n+a)^s}$$

($a \in \mathbb{C} \setminus \mathbb{Z}_0^-; s \in \mathbb{C}$ when $|z| < 1; \Re(s) > 1$ when $|z| = 1$) for negative integer values of s , \mathbb{Z}_0^- being the set of non-positive integers. Apostol [1] gave several elementary properties of $\mathcal{B}_n(x; \lambda)$ including (for example) the following interesting recursion formula for the numbers $\mathcal{B}_{n,\lambda}$:

$$\mathcal{B}_{n,\lambda} = n \sum_{k=0}^{n-1} \frac{k!(-\lambda)^k}{(\lambda-1)^{k+1}} S(n-1, k) \quad (\lambda \neq 1),$$

where $S(n, k)$ denotes the Stirling numbers of the second kind defined by

$$S(n, k) = \frac{(-1)^k}{k!} \sum_{j=1}^k (-1)^j \binom{k}{j} j^n.$$

The Apostol-Euler polynomials $\mathcal{E}_n(x; \lambda)$ and the Apostol-Genocchi polynomials $\mathcal{G}_n(x; \lambda)$ are defined, respectively, by

$$\frac{2e^{xt}}{\lambda e^t + 1} = \sum_{n=0}^{\infty} \mathcal{E}_n(x; \lambda) \frac{t^n}{n!} \quad \left(|t| < \frac{1}{2} |\log(-\lambda)| \right)$$

and

$$\frac{2te^{xt}}{\lambda e^t + 1} = \sum_{n=0}^{\infty} \mathcal{G}_n(x; \lambda) \frac{t^n}{n!} \quad (|t| < |\log(-\lambda)|),$$

where

$$\mathcal{E}_{n,\lambda} := \mathcal{E}_n(0; \lambda) \quad \text{and} \quad \mathcal{G}_{n,\lambda} := \mathcal{G}_n(0; \lambda)$$

denote the corresponding Apostol-Euler number and the Apostol-Genocchi numbers, respectively.

Recently, many authors studied these Apostol type Bernoulli, Euler and Genocchi polynomials and the corresponding numbers. In particular, Cenkci and Can [3] considered a q -analogue of the Apostol-Bernoulli polynomials $\mathcal{B}_n(x; \lambda)$. Luo (see [13] [14]) computed the Fourier expansions and integral representations of the Apostol-Bernoulli polynomials $\mathcal{B}_n(x; \lambda)$ and the Apostol-Euler polynomials $\mathcal{E}_n(x; \lambda)$. Prévost [21], on the other hand, investigated the Padé approximation for these polynomials. Also, in [8] and [11], a q -extension of Apostol-Euler polynomials $\mathcal{E}_n(x; \lambda)$ was studied. Other notable developments involving these Apostol type polynomials, including also the Genocchi and Apostol-Genocchi polynomials, and their various

extensions and generalizations, see (for example) [4], [5], [6], [7], [9], [10], [12], [15], [16], [17] and [23].

Our present paper is organized as follows. In Section 2, we introduce a parametric type of the Apostol-Bernoulli polynomials $\mathcal{B}_n(x; \lambda)$, the Apostol-Euler polynomials $\mathcal{E}_n(x; \lambda)$ and the Apostol-Genocchi polynomials $\mathcal{G}_n(x; \lambda)$ by means of three separate generating functions. In Section 3, we obtain several basic properties of the introduced parametric Apostol-Bernoulli polynomials and, in Sections 4 and 5, we simply record without proof the corresponding basic properties of the introduced parametric Apostol-Euler polynomials and the Apostol-Genocchi polynomials. Finally, in Section 6, an application of the introduced polynomials is presented by computing some new series of the Taylor type involving the Apostol-Bernoulli numbers $\mathcal{B}_{n,\lambda}$, the Apostol-Euler numbers $\mathcal{E}_{n,\lambda}$ and the Apostol-Genocchi numbers $\mathcal{G}_{n,\lambda}$.

2 Parametric Type of Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials

We begin by introducing the binomial convolution of two sequences a_n and b_n given by

$$A(t) = \sum_{n=0}^{\infty} a_n \frac{t^n}{n!} \quad \text{and} \quad B(t) = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!},$$

so that, by the Cauchy product, we have

$$C(t) := A(t)B(t) = \sum_{n=0}^{\infty} c_n \frac{t^n}{n!},$$

where c_n denotes the binomial convolution of the sequences a_n and b_n defined as follows (see [18]):

$$c_n = a_n * b_n := \sum_{k=0}^n \binom{n}{k} a_k b_{n-k} = \sum_{k=0}^n \binom{n}{k} a_{n-k} b_k. \quad (2)$$

For $p, q \in \mathbb{R}$, it was proved in [20] that the Taylor expansions of the two functions $e^{pt} \cos(qt)$ and $e^{pt} \sin(qt)$ are given by

$$e^{pt} \cos(qt) = \sum_{k=0}^{\infty} C_k(p, q) \frac{t^k}{k!}$$

and

$$e^{pt} \sin(qt) = \sum_{k=0}^{\infty} S_k(p, q) \frac{t^k}{k!},$$

where

$$C_k(p, q) = \sum_{j=0}^{\lfloor \frac{k}{2} \rfloor} (-1)^j \binom{k}{2j} p^{k-2j} q^{2j} \quad (3)$$

and

$$S_k(p, q) = \sum_{j=0}^{\lfloor \frac{k-1}{2} \rfloor} (-1)^j \binom{k}{2j+1} p^{k-2j-1} q^{2j+1}. \quad (4)$$

By noting the definitions of $C_n(p, q)$, $S_n(p, q)$ and the Apostol type numbers $\mathcal{B}_{n,\lambda}$, $\mathcal{E}_{n,\lambda}$ and $\mathcal{G}_{n,\lambda}$, we can introduce two parametric kinds of Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials as follows:

$$\mathcal{B}_n^{(c)}(p, q; \lambda) = \mathcal{B}_{n,\lambda} * C_n(p, q) \quad \text{and} \quad \mathcal{B}_n^{(s)}(p, q; \lambda) = \mathcal{B}_{n,\lambda} * S_n(p, q), \quad (5)$$

$$\mathcal{E}_n^{(c)}(p, q; \lambda) = \mathcal{E}_{n,\lambda} * C_n(p, q) \quad \text{and} \quad \mathcal{E}_n^{(s)}(p, q; \lambda) = \mathcal{E}_{n,\lambda} * S_n(p, q) \quad (6)$$

and

$$\mathcal{G}_n^{(c)}(p, q; \lambda) = \mathcal{G}_{n,\lambda} * C_n(p, q) \quad \text{and} \quad \mathcal{G}_n^{(s)}(p, q; \lambda) = \mathcal{G}_{n,\lambda} * S_n(p, q), \quad (7)$$

whose exponential generating functions are given, respectively, by

$$\frac{te^{pt}}{\lambda e^t - 1} \cos(qt) = \sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(p, q; \lambda) \frac{t^n}{n!} \quad \text{and} \quad \frac{te^{pt}}{\lambda e^t - 1} \sin(qt) = \sum_{n=0}^{\infty} \mathcal{B}_n^{(s)}(p, q; \lambda) \frac{t^n}{n!}, \quad (8)$$

$$\frac{2e^{pt}}{\lambda e^t + 1} \cos(qt) = \sum_{n=0}^{\infty} \mathcal{E}_n^{(c)}(p, q; \lambda) \frac{t^n}{n!} \quad \text{and} \quad \frac{2e^{pt}}{\lambda e^t + 1} \sin(qt) = \sum_{n=0}^{\infty} \mathcal{E}_n^{(s)}(p, q; \lambda) \frac{t^n}{n!} \quad (9)$$

$$\frac{2te^{pt}}{\lambda e^t - 1} \cos(qt) = \sum_{n=0}^{\infty} \mathcal{G}_n^{(c)}(p, q; \lambda) \frac{t^n}{n!} \quad \text{and} \quad \frac{2te^{pt}}{\lambda e^t - 1} \sin(qt) = \sum_{n=0}^{\infty} \mathcal{G}_n^{(s)}(p, q; \lambda) \frac{t^n}{n!}. \quad (10)$$

Hence, according to the relation (2), we can represent these polynomials as follows:

$$\mathcal{B}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{B}_{n-k,\lambda} C_k(p, q) \quad \text{and} \quad \mathcal{B}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{B}_{n-k,\lambda} S_k(p, q), \quad (11)$$

$$\mathcal{E}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{E}_{n-k,\lambda} C_k(p, q) \quad \text{and} \quad \mathcal{E}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{E}_{n-k,\lambda} S_k(p, q) \quad (12)$$

and

$$\mathcal{G}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{G}_{n-k,\lambda} C_k(p, q) \quad \text{and} \quad \mathcal{G}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{G}_{n-k,\lambda} S_k(p, q). \quad (13)$$

We note from the above equations that

$$\mathcal{B}_n^{(c)}(p, 0; \lambda) = \mathcal{B}_n(p; \lambda), \quad \mathcal{E}_n^{(c)}(p, 0; \lambda) = \mathcal{E}_n(p; \lambda) \quad \text{and} \quad \mathcal{G}_n^{(c)}(p, 0; \lambda) = \mathcal{G}_n(p; \lambda).$$

Thus, for example, we have

$$\begin{aligned} \mathcal{B}_0^{(c)}(p, q; \lambda) &= 0, & \mathcal{B}_1^{(c)}(p, q; \lambda) &= \frac{1}{\lambda-1}, & \mathcal{B}_2^{(c)}(p, q; \lambda) &= \frac{2\lambda-2}{(\lambda-1)^2} p - \frac{2\lambda}{(\lambda-1)^2}, \\ \mathcal{E}_0^{(c)}(p, q; \lambda) &= 0, & \mathcal{E}_1^{(c)}(p, q; \lambda) &= 0, & \mathcal{E}_2^{(c)}(p, q; \lambda) &= \frac{2q}{\lambda-1}, \\ \mathcal{G}_0^{(c)}(p, q; \lambda) &= \frac{2}{\lambda+1}, & \mathcal{G}_1^{(c)}(p, q; \lambda) &= \frac{2\lambda+2}{(\lambda+1)^2} p - \frac{2\lambda}{(\lambda+1)^2}, \\ \mathcal{B}_2^{(c)}(p, q; \lambda) &= \frac{2\lambda^2+4\lambda+2}{(\lambda+1)^3} p^2 - \frac{4\lambda^2+4\lambda}{(\lambda+1)^3} p - \frac{2\lambda^2+4\lambda+2}{(\lambda+1)^3} q^2 + \frac{2\lambda^2-2\lambda}{(\lambda+1)^3}, \\ \mathcal{E}_0^{(s)}(p, q; \lambda) &= 0, & \mathcal{E}_1^{(s)}(p, q; \lambda) &= \frac{2q}{\lambda+1}, & \mathcal{E}_2^{(s)}(p, q; \lambda) &= \frac{4q\lambda+4q}{(\lambda+1)^2} p - \frac{4q\lambda}{(\lambda+1)^2}, \\ \mathcal{G}_0^{(c)}(p, q; \lambda) &= 0, & \mathcal{G}_1^{(c)}(p, q; \lambda) &= \frac{2}{\lambda+1}, & \mathcal{G}_2^{(c)}(p, q; \lambda) &= \frac{4\lambda+4}{(\lambda+1)^2} p - \frac{4\lambda}{(\lambda+1)^2}, \\ \mathcal{G}_0^{(s)}(p, q; \lambda) &= 0, & \mathcal{G}_1^{(s)}(p, q; \lambda) &= 0, & \mathcal{G}_2^{(s)}(p, q; \lambda) &= \frac{4q}{\lambda+1}. \end{aligned}$$

3 Basic Properties of $\mathcal{B}_n^{(c)}(p, q; \lambda)$ and $\mathcal{B}_n^{(s)}(p, q; \lambda)$

Proposition 1 For every $n \in \mathbb{N}$, the following identities hold true:

$$\lambda \mathcal{B}_n^{(c)}(1+p, q; \lambda) - \mathcal{B}_n^{(c)}(p, q; \lambda) = n C_{n-1}(p, q) \quad (14)$$

and

$$\lambda \mathcal{B}_n^{(s)}(1+p, q; \lambda) - \mathcal{B}_n^{(s)}(p, q; \lambda) = n S_{n-1}(p, q), \quad (15)$$

\mathbb{N} being the set of positive integers and $\mathbb{N}_0 := \mathbb{N} \cup \{0\}$.

Proof. We have

$$\begin{aligned} \lambda \sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(1+p, q; \lambda) \frac{t^n}{n!} &= \frac{te^{pt}(\lambda e^t - 1 + 1)}{\lambda e^t - 1} \cos(qt) = te^{pt} \cos(qt) + \frac{te^{pt}}{\lambda e^t - 1} \cos(qt) \\ &= \sum_{n=0}^{\infty} C_n(p, q) \frac{t^{n+1}}{n!} + \sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(p, q; \lambda) \frac{t^n}{n!} \\ &= \sum_{n=1}^{\infty} n C_{n-1}(p, q) \frac{t^n}{n!} + \sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(p, q; \lambda) \frac{t^n}{n!}, \end{aligned}$$

which proves the first assertion (14). The proof of the second assertion (15) is similar.

Corollary 1 The relations (14) and (15) imply that

$$\lambda \mathcal{B}_{2n+1}^{(c)}(1, q; \lambda) - \mathcal{B}_{2n+1}^{(c)}(0, q; \lambda) = (2n+1)(-1)^n q^{2n}$$

and

$$\lambda \mathcal{B}_{2n}^{(s)}(1, q; \lambda) - \mathcal{B}_{2n}^{(s)}(0, q; \lambda) = 2n(-1)^{n+1} q^{2n-1}.$$

Proposition 2 For every $n \in \mathbb{N}$, the following identities hold true:

$$\mathcal{B}_n^{(c)}(p+r, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{B}_k^{(c)}(p, q; \lambda) r^{n-k} \quad (16)$$

and

$$\mathcal{B}_n^{(s)}(p+r, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{B}_k^{(s)}(p, q; \lambda) r^{n-k}. \quad (17)$$

Proof. We apply the relation (8) to obtain

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(p+r, q; \lambda) \frac{t^n}{n!} &= \left(\frac{te^{pt}}{\lambda e^t - 1} \cos(qt) \right) e^{rt} \\ &= \left(\sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(p, q; \lambda) \frac{t^n}{n!} \right) \cdot \left(\sum_{n=0}^{\infty} r^n \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} \mathcal{B}_k^{(c)}(p, q; \lambda) r^{n-k} \right) \frac{t^n}{n!}, \end{aligned}$$

which proves the result (16). The other result (17) can be proved similarly.

Corollary 2 It is asserted that

$$\mathcal{B}_n^{(c)}(p+1, q; \lambda) - \mathcal{B}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{B}_k^{(c)}(p, q; \lambda)$$

and

$$\mathcal{B}_n^{(s)}(p+1, q; \lambda) - \mathcal{B}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{B}_k^{(s)}(p, q; \lambda).$$

Now, by combining these results and Proposition 1, we find the following recurrence relations:

$$\mathcal{B}_n^{(c)}(p, q; \lambda) = \frac{1}{\lambda - 1} \left[nC_{n-1}(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{B}_k^{(c)}(p, q; \lambda) \right] \tag{18}$$

and

$$\mathcal{B}_n^{(s)}(p, q; \lambda) = \frac{1}{\lambda - 1} \left[nS_{n-1}(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{B}_k^{(s)}(p, q; \lambda) \right], \tag{19}$$

where

$$\mathcal{B}_0^{(c)}(p, q; \lambda) = \mathcal{B}_0^{(s)}(p, q; \lambda) = 0.$$

Proposition 3 For every $n \in \mathbb{N}$, the following identities hold true:

$$\frac{\partial}{\partial p} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} = n\mathcal{B}_{n-1}^{(c)}(p, q; \lambda), \tag{20}$$

$$\frac{\partial}{\partial q} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} = -n\mathcal{B}_{n-1}^{(s)}(p, q; \lambda), \tag{21}$$

$$\frac{\partial}{\partial p} \left\{ \mathcal{B}_n^{(s)}(p, q; \lambda) \right\} = n\mathcal{B}_{n-1}^{(s)}(p, q; \lambda) \tag{22}$$

and

$$\frac{\partial}{\partial q} \left\{ \mathcal{B}_n^{(s)}(p, q; \lambda) \right\} = n\mathcal{B}_{n-1}^{(c)}(p, q; \lambda). \tag{23}$$

Proof. In view of the equation (8), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{\partial}{\partial p} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} \frac{t^n}{n!} &= \frac{t^2 e^{pt}}{\lambda e^t - 1} \cos(qt) = \sum_{n=0}^{\infty} \mathcal{B}_n^{(c)}(p, q; \lambda) \frac{t^{n+1}}{n!} \\ &= \sum_{n=1}^{\infty} \mathcal{B}_{n-1}^{(c)}(p, q; \lambda) \frac{t^n}{(n-1)!} = \sum_{n=1}^{\infty} n\mathcal{B}_{n-1}^{(c)}(p, q; \lambda) \frac{t^n}{n!}, \end{aligned}$$

which proves the result (20). The other results (21), (22) and (23) can be proved similarly.

Proposition 4 The polynomials $\mathcal{B}_n^{(c)}(p, q; \lambda)$ and $\mathcal{B}_n^{(s)}(p, q; \lambda)$ are, respectively, of degrees $n - 1$ and $n - 2$ in the variable p . It is also asserted that

$$\mathcal{B}_n^{(c)}(p, q; \lambda) = \frac{n}{\lambda - 1} p^{n-1} - \frac{n(n-1)\lambda}{(\lambda - 1)^2} p^{n-2} + \dots \tag{24}$$

and

$$\mathcal{B}_n^{(s)}(p, q; \lambda) = \frac{n(n-1)q}{\lambda - 1} p^{n-2} - \frac{n(n-1)(n-2)q\lambda}{(\lambda - 1)^2} p^{n-3} + \dots \tag{25}$$

Furthermore, if they are considered as polynomials in the variable q , then

$$\mathcal{B}_n^{(c)}(p, q; \lambda) = \begin{cases} \left[\frac{(-1)^{\frac{n+2}{2}}}{\lambda - 1} n(n-1) \left(p - \frac{\lambda}{\lambda - 1} \right) q^{n-2} + \frac{(n-3)(-1)^{\frac{n}{2}}}{\lambda - 1} \binom{n}{3} \cdot \left[p^3 - \frac{3\lambda p^2}{\lambda - 1} + \frac{3\lambda(\lambda+1)p}{(\lambda - 1)^2} - \frac{\lambda(\lambda^2 + 4\lambda + 1)}{(\lambda - 1)^3} \right] q^{n-4} + \dots \right. \\ \left. \frac{n(-1)^{\frac{n+1}{2}}}{\lambda - 1} q^{n-1} + \frac{3(-1)^{\frac{n+1}{2}}}{\lambda - 1} \binom{n}{3} \left[p^2 - \frac{2\lambda p}{\lambda - 1} + \frac{\lambda(\lambda+1)}{(\lambda - 1)^2} \right] q^{n-3} + \dots \right] \end{cases} \tag{26}$$

and

$$\mathcal{B}_n^{(s)}(p, q; \lambda) = \begin{cases} \left[\frac{n(-1)^{\frac{n+2}{2}}}{\lambda - 1} q^{n-1} + \frac{3(-1)^{\frac{n}{2}}}{\lambda - 1} \binom{n}{3} \left(p^2 - \frac{2\lambda p}{\lambda - 1} + \frac{\lambda(\lambda+1)}{(\lambda - 1)^2} \right) q^{n-3} + \dots \right. \\ \left. \frac{(-1)^{\frac{n+1}{2}}}{\lambda - 1} n(n-1) \left(p - \frac{\lambda}{\lambda - 1} \right) q^{n-2} + \frac{(n-3)(-1)^{\frac{n-1}{2}}}{\lambda - 1} \binom{n}{3} \cdot \left[p^3 - \frac{3\lambda p^2}{\lambda - 1} + \frac{3\lambda(\lambda+1)p}{(\lambda - 1)^2} - \frac{\lambda(\lambda^2 + 4\lambda + 1)}{(\lambda - 1)^3} \right] q^{n-4} + \dots \right] \end{cases} \tag{27}$$

Proof. We first prove (24) by applying the principle of mathematical induction on n . Indeed, it is known from (18) that

$$\mathcal{B}_1^{(c)}(p, q; \lambda) = \frac{1}{\lambda - 1},$$

$$\mathcal{B}_2^{(c)}(p, q; \lambda) = \frac{2}{\lambda - 1} p - \frac{2\lambda}{(\lambda - 1)^2}$$

and

$$\mathcal{B}_3^{(c)}(p, q; \lambda) = \frac{3}{\lambda - 1} p^2 - \frac{6\lambda}{(\lambda - 1)^2} p - \frac{3}{\lambda - 1} q^2 + \frac{3\lambda(\lambda + 1)}{(\lambda - 1)^3}.$$

Therefore, the assertion (24) holds true for $n = 1, 2, 3$. We now assume that it is valid for $n - 1$. By referring to (20), we have

$$\frac{\partial}{\partial p} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} = \frac{n(n-1)}{\lambda - 1} p^{n-2} - \frac{n(n-1)(n-2)\lambda}{(\lambda - 1)^2} p^{n-3} + \dots.$$

In order to complete the proof, it is sufficient to integrate the above equation with respect to the variable p to get the result (24). By virtue of the relation (23), the result (25) can be derived similarly.

To prove (26), we suppose that it holds true for $1, 2, 3, \dots, n - 1$. If $n = 2m$, then from (18) we have

$$\begin{aligned} \mathcal{B}_{2m}^{(c)}(p, q; \lambda) &= \frac{1}{\lambda - 1} \left[2m \sum_{k=0}^{m-1} (-1)^k \binom{2m-1}{2k} p^{2m-1-2k} q^{2k} \right. \\ &\quad \left. - \lambda \sum_{k=0}^{2m-1} \binom{2m}{k} \mathcal{B}_k^{(c)}(p, q; \lambda) \right]. \end{aligned} \tag{28}$$

Hence, clearly, the coefficient of q^{2m-2} in the right-hand side of (28) is equal to

$$\begin{aligned} \frac{1}{\lambda - 1} \left[2m(-1)^{m-1} \binom{2m-1}{2m-2} p^{2m-1-2m+2} - \lambda \binom{2m}{2m-1} \frac{(2m-1)(-1)^{m-1}}{\lambda - 1} \right] \\ = \frac{(-1)^{m+1}}{\lambda - 1} 2m(2m-1) \left(p - \frac{\lambda}{\lambda - 1} \right) \end{aligned}$$

and the coefficient of q^{2m-4} is equal to

$$\begin{aligned} & \frac{1}{\lambda-1} \left[2m(-1)^{m-2} \binom{2m-1}{2m-4} p^3 - \lambda \left\{ \binom{2m}{2m-1} \frac{3(-1)^m}{\lambda-1} \binom{2m-1}{3} \right. \right. \\ & \quad \cdot \left(p^2 - \frac{2\lambda}{\lambda-1} p + \frac{\lambda(\lambda+1)}{(\lambda-1)^2} \right) \\ & \quad + \binom{2m}{2m-2} \frac{(-1)^m}{\lambda-1} (2m-2)(2m-3) \left(p - \frac{\lambda}{\lambda-1} \right) \\ & \quad \left. \left. + \binom{2m}{2m-3} \frac{(2m-3)(-1)^{m-2}}{\lambda-1} \right\} \right] \\ & = \frac{(2m-3)(-1)^m}{\lambda-1} \binom{2m}{3} \left(p^3 - \frac{3\lambda}{\lambda-1} p^2 + \frac{3\lambda(\lambda+1)}{(\lambda-1)^2} p - \frac{\lambda(\lambda^2+4\lambda+1)}{(\lambda-1)^3} \right). \end{aligned}$$

So, the assertion (26) is true for $n = 2m$. In the second case, taking $n = 2m + 1$ in (18), we get

$$\begin{aligned} \mathcal{B}_{2m+1}^{(c)}(p, q; \lambda) &= \frac{1}{\lambda-1} \left[(2m+1) \sum_{k=0}^m (-1)^k \binom{2m}{2k} p^{2m-2k} q^{2k} \right. \\ & \quad \left. - \lambda \sum_{k=0}^{2m} \binom{2m+1}{k} \mathcal{B}_k^{(c)}(p, q; \lambda) \right]. \end{aligned} \quad (29)$$

Hence, clearly, the coefficient of q^{2m} in the right-hand side of (29) is equal to

$$\frac{1}{\lambda-1} \left[(2m+1)(-1)^m \binom{2m}{2m} \right] = \frac{(2m+1)(-1)^m}{\lambda-1}$$

and the coefficient of q^{2m-2} is equal to

$$\begin{aligned} & \frac{1}{\lambda-1} \left[(2m+1)(-1)^{m-1} \binom{2m}{2m-2} p^2 - \lambda \left\{ \binom{2m+1}{2m} \frac{(-1)^{m+1}}{\lambda-1} 2m(2m-1) \left(p - \frac{\lambda}{\lambda-1} \right) \right. \right. \\ & \quad \left. \left. + \binom{2m+1}{2m-1} \frac{(2m-1)(-1)^{m-1}}{\lambda-1} \right\} \right] \\ & = \frac{3(-1)^{m+1}}{\lambda-1} \binom{2m+1}{3} \left(p^2 - \frac{2\lambda}{\lambda-1} p + \frac{\lambda(\lambda+1)}{(\lambda-1)^2} \right). \end{aligned}$$

which completes the proof of (26). By combining (23) and (26), we can also obtain the result (27).

Proposition 5 The following identities hold true:

$$\mathcal{B}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \binom{n}{2k} \mathcal{B}_{n-2k}^{(c)}(p, 0; \lambda) q^{2k} \quad (30)$$

and

$$\mathcal{B}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^{\lfloor \frac{n-2}{2} \rfloor} (-1)^k \binom{n}{2k+1} \mathcal{B}_{n-2k-1}^{(c)}(p, 0; \lambda) q^{2k+1}, \quad (31)$$

in which

$$\mathcal{B}_{n-2k}^{(c)}(p, 0; \lambda) = \mathcal{B}_{n-2k}(p; \lambda) \quad \text{and} \quad \mathcal{B}_{n-2k-1}^{(c)}(p, 0; \lambda) = \mathcal{B}_{n-2k-1}(p; \lambda)$$

are the Apostol-Bernoulli polynomials.

Proof. According to (21) and (23), we first observe that

$$\frac{\partial^{2k}}{\partial q^{2k}} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} = (-1)^k \frac{n!}{(n-2k)!} \mathcal{B}_{n-2k}^{(c)}(p, q; \lambda) \quad \left(k=0, 1, 2, \dots, \left\lfloor \frac{n-1}{2} \right\rfloor \right)$$

and

$$\frac{\partial^{2k+1}}{\partial q^{2k+1}} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} = (-1)^{k+1} \frac{n!}{(n-2k-1)!} \mathcal{B}_{n-2k-1}^{(s)}(p, q; \lambda) \quad \left(k=0, 1, 2, \dots, \left\lfloor \frac{n-3}{2} \right\rfloor \right),$$

because $\mathcal{B}_n^{(c)}(p, q; \lambda)$ is a polynomial in the variable q of degree n for even n and of degree $n - 1$ for odd n according to Proposition 4. The Taylor expansion of $\mathcal{B}_n^{(c)}(p, q; \lambda)$ gives

$$\mathcal{B}_n^{(c)}(p, q + h; \lambda) = \sum_{k=0}^n \frac{1}{k!} \frac{\partial^k}{\partial q^k} \left\{ \mathcal{B}_n^{(c)}(p, q; \lambda) \right\} h^k,$$

in which $h \in \mathbb{R}$. Since

$$\mathcal{B}_n^{(s)}(p, 0; \lambda) = 0$$

for every $n \in \mathbb{Z}^+$, by setting $q = 0$ and $h = q$, we obtain the assertion (30). In a similar way, the result (31) can be derived.

Proposition 6 If $m \in \mathbb{N}$, $n \in \mathbb{Z}^+$ and $\lambda > 0$, then

$$\mathcal{B}_n^{(c)}(mp, q; \lambda^{\frac{1}{m}}) = m^{n-1} \sum_{k=0}^{m-1} \lambda^{\frac{k}{m}} \mathcal{B}_n^{(c)}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda\right) \quad (32)$$

and

$$\mathcal{B}_n^{(s)}(mp, q; \lambda^{\frac{1}{m}}) = m^{n-1} \sum_{k=0}^{m-1} \lambda^{\frac{k}{m}} \mathcal{B}_n^{(s)}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda\right). \quad (33)$$

Proof. To prove (32), it suffices to consider the following relation:

$$\sum_{n=0}^{\infty} \lambda^{\frac{k}{m}} \mathcal{B}_n^{(c)}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda\right) \frac{t^n}{n!} = \lambda^{\frac{k}{m}} \frac{te^{(p+\frac{k}{m})t}}{\lambda e^t - 1} \cos\left(\frac{qt}{m}\right)$$

and then take a sum from both sides of the above equation to obtain

$$\begin{aligned} & \sum_{k=0}^{m-1} \left[\sum_{n=0}^{\infty} \lambda^{\frac{k}{m}} \mathcal{B}_n^{(c)}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda\right) \frac{t^n}{n!} \right] \\ & = \frac{te^{pt}}{\lambda e^t - 1} \cos\left(\frac{qt}{m}\right) \sum_{k=0}^{m-1} \left(\lambda^{\frac{k}{m}} e^{\frac{kt}{m}} \right)^k \\ & = m \frac{te^{mp}}{\lambda^{\frac{1}{m}} e^{\frac{t}{m}} - 1} \cos\left(\frac{qt}{m}\right) = \sum_{n=0}^{\infty} m^{1-n} \mathcal{B}_n^{(c)}(mp, q; \lambda^{\frac{1}{m}}) \frac{t^n}{n!}. \end{aligned}$$

In a similar way, we can prove (33).

In the next two sections, we just present the corresponding basic properties of $\mathcal{E}_n^{(c)}(p, q; \lambda)$, $\mathcal{E}_n^{(s)}(p, q; \lambda)$, $\mathcal{G}_n^{(c)}(p, q; \lambda)$ and $\mathcal{G}_n^{(s)}(p, q; \lambda)$. The proofs are similar and will, therefore, be omitted.

4 Basic Properties of $\mathcal{E}_n^{(c)}(p, q; \lambda)$ and $\mathcal{E}_n^{(s)}(p, q; \lambda)$

Proposition 7 For every $n \in \mathbb{N}$, the following identities hold true:

$$\lambda \mathcal{E}_n^{(c)}(1 + p, q; \lambda) + \mathcal{E}_n^{(c)}(p, q; \lambda) = 2C_n(p, q) \quad (34)$$

and

$$\lambda \mathcal{E}_n^{(s)}(1 + p, q; \lambda) + \mathcal{E}_n^{(s)}(p, q; \lambda) = 2S_n(p, q). \quad (35)$$

Corollary 3 The relations (34) and (35) imply that

$$\lambda \mathcal{E}_{2n}^{(c)}(1, q; \lambda) + \mathcal{E}_{2n}^{(c)}(0, q; \lambda) = 2(-1)^n q^{2n}$$

and

$$\lambda \mathcal{E}_{2n+1}^{(s)}(1, q; \lambda) + \mathcal{E}_{2n+1}^{(s)}(0, q; \lambda) = 2(-1)^n q^{2n+1}.$$

Proposition 8 For every $n \in \mathbb{Z}^+$, the following identities hold true:

$$\mathcal{E}_n^{(c)}(p+r, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{E}_k^{(c)}(p, q; \lambda) r^{n-k}$$

and

$$\mathcal{E}_n^{(s)}(p+r, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{E}_k^{(s)}(p, q; \lambda) r^{n-k}.$$

Corollary 4 It is asserted that

$$\mathcal{E}_n^{(c)}(p+1, q; \lambda) - \mathcal{E}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{E}_k^{(c)}(p, q; \lambda)$$

and

$$\mathcal{E}_n^{(s)}(p+1, q; \lambda) - \mathcal{E}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{E}_k^{(s)}(p, q; \lambda).$$

Now, by combining these results and Proposition 7, we have the following recurrence relations:

$$\mathcal{E}_n^{(c)}(p, q; \lambda) = \frac{1}{\lambda+1} \left[2C_n(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{E}_k^{(c)}(p, q; \lambda) \right]$$

and

$$\mathcal{E}_n^{(s)}(p, q; \lambda) = \frac{1}{\lambda+1} \left[2S_{n-1}(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{E}_k^{(s)}(p, q; \lambda) \right],$$

where

$$\mathcal{E}_0^{(c)}(p, q; \lambda) = \frac{2}{\lambda+1} \quad \text{and} \quad \mathcal{E}_0^{(s)}(p, q; \lambda) = 0.$$

Proposition 9 For every $n \in \mathbb{N}$, the following identities hold true:

$$\frac{\partial}{\partial p} \left\{ \mathcal{E}_n^{(c)}(p, q; \lambda) \right\} = n \mathcal{E}_{n-1}^{(c)}(p, q; \lambda),$$

$$\frac{\partial}{\partial q} \left\{ \mathcal{E}_n^{(c)}(p, q; \lambda) \right\} = -n \mathcal{E}_{n-1}^{(s)}(p, q; \lambda),$$

$$\frac{\partial}{\partial p} \left\{ \mathcal{E}_n^{(s)}(p, q; \lambda) \right\} = n \mathcal{E}_{n-1}^{(s)}(p, q; \lambda)$$

and

$$\frac{\partial}{\partial q} \left\{ \mathcal{E}_n^{(s)}(p, q; \lambda) \right\} = n \mathcal{E}_{n-1}^{(c)}(p, q; \lambda).$$

Proposition 10 If $\mathcal{E}_n^{(c)}(p, q)$ and $\mathcal{E}_n^{(s)}(p, q)$ are considered as polynomials in the variable p , then they are of degree n and $n-1$, respectively, and it is asserted that

$$\mathcal{E}_n^{(c)}(p, q; \lambda) = \frac{2}{\lambda+1} p^n - \frac{2n\lambda}{(\lambda+1)^2} p^{n-1} + \dots$$

and

$$\mathcal{E}_n^{(s)}(p, q; \lambda) = \frac{2nq}{\lambda+1} p^{n-1} - \frac{2n(n-1)q\lambda}{(\lambda+1)^2} p^{n-2} + \dots.$$

Furthermore, if $\mathcal{E}_n^{(c)}(p, q)$ and $\mathcal{E}_n^{(s)}(p, q)$ are considered as polynomials in the variable q , then

$$\mathcal{E}_n^{(c)}(p, q; \lambda) = \begin{cases} \frac{(-1)^{\frac{n-1}{2}}}{\lambda+1} 2n \left(p - \frac{\lambda}{\lambda+1} \right) q^{n-1} + \frac{2(-1)^{\frac{n-1}{2}}}{\lambda+1} \cdot \binom{n}{3} \left(p^3 - \frac{3\lambda p^2}{\lambda+1} + \frac{3\lambda(\lambda-1)p}{(\lambda+1)^2} - \frac{\lambda(\lambda^2-4\lambda+1)}{(\lambda+1)^3} \right) q^{n-3} + \dots & (n \text{ odd}) \\ \frac{2(-1)^{\frac{n}{2}}}{\lambda+1} q^n + \frac{(-1)^{\frac{n+2}{2}} n(n-1)}{\lambda+1} \left(p^2 - \frac{2\lambda p}{\lambda+1} + \frac{\lambda(\lambda-1)}{(\lambda+1)^2} \right) q^{n-2} + \dots & (n \text{ even}) \end{cases}$$

and

$$\mathcal{E}_n^{(s)}(p, q; \lambda) = \begin{cases} \frac{2(-1)^{\frac{n-1}{2}}}{\lambda+1} q^n + \frac{n(n-1)(-1)^{\frac{n-1}{2}}}{\lambda+1} \left(p^2 - \frac{2\lambda p}{\lambda+1} + \frac{\lambda(\lambda-1)}{(\lambda+1)^2} \right) q^{n-2} + \dots & (n \text{ odd}) \\ \frac{2n(-1)^{\frac{n+2}{2}}}{\lambda+1} \left(p - \frac{\lambda}{\lambda+1} \right) q^{n-1} + \frac{2(-1)^{\frac{n}{2}}}{\lambda+1} \cdot \binom{n}{3} \left(p^3 - \frac{3\lambda p^2}{\lambda+1} + \frac{3\lambda(\lambda-1)p}{(\lambda+1)^2} - \frac{\lambda(\lambda^2-4\lambda+1)}{(\lambda+1)^3} \right) q^{n-3} + \dots & (n \text{ even}). \end{cases}$$

Proposition 11 The following identities hold true:

$$\mathcal{E}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \binom{n}{2k} \mathcal{E}_{n-2k}^{(c)}(p, 0; \lambda) q^{2k}$$

and

$$\mathcal{E}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \binom{n}{2k+1} \mathcal{E}_{n-2k-1}^{(c)}(p, 0; \lambda) q^{2k+1},$$

in which

$$\mathcal{E}_{n-2k}^{(c)}(p, 0; \lambda) = \mathcal{E}_{n-2k}^{(c)}(p; \lambda)$$

and

$$\mathcal{E}_{n-2k-1}^{(c)}(p, 0; \lambda) = \mathcal{E}_{n-2k-1}^{(s)}(p; \lambda)$$

are the Apostol-Euler polynomials.

Proposition 12 If $n \in \mathbb{N}$, $\lambda > 0$ and m is an odd positive integer, then

$$\mathcal{E}_n^{(c)}\left(mp, q; \lambda^{\frac{1}{m}}\right) = m^n \sum_{k=0}^{m-1} (-1)^k \lambda^{\frac{k}{m}} \mathcal{E}_n^{(c)}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda\right)$$

and

$$\mathcal{E}_n^{(s)}\left(mp, q; \lambda^{\frac{1}{m}}\right) = m^n \sum_{k=0}^{m-1} (-1)^k \lambda^{\frac{k}{m}} \mathcal{E}_n^{(s)}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda\right).$$

5 Basic Properties of $\mathcal{G}_n^{(c)}(p, q; \lambda)$ and $\mathcal{G}_n^{(s)}(p, q; \lambda)$

Proposition 13 For every $n \in \mathbb{N}$, the following identities hold

$$\lambda \mathcal{G}_n^{(c)}(1+p, q; \lambda) + \mathcal{G}_n^{(c)}(p, q; \lambda) = 2nC_{n-1}(p, q) \quad (36)$$

and

$$\lambda \mathcal{G}_n^{(s)}(1+p, q; \lambda) + \mathcal{G}_n^{(s)}(p, q; \lambda) = 2nS_{n-1}(p, q). \quad (37)$$

Corollary 5 The relations (36) and (37) imply that

$$\lambda \mathcal{G}_{2n+1}^{(c)}(1, q; \lambda) + \mathcal{G}_{2n+1}^{(c)}(0, q; \lambda) = 2(2n+1)(-1)^n q^{2n}$$

and

$$\lambda \mathcal{G}_{2n}^{(s)}(1, q; \lambda) + \mathcal{G}_{2n}^{(s)}(0, q; \lambda) = 4n(-1)^{n+1} q^{2n-1}.$$

Proposition 14 For every $n \in \mathbb{N}$, the following identities hold true:

$$\mathcal{G}_n^{(c)}(p+r, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{G}_k^{(c)}(p, q; \lambda) r^{n-k}$$

and

$$\mathcal{G}_n^{(s)}(p+r, q; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{G}_k^{(s)}(p, q; \lambda) r^{n-k}.$$

Corollary 6 It is asserted that

$$\mathcal{G}_n^{(c)}(p+1, q; \lambda) - \mathcal{G}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{G}_k^{(c)}(p, q; \lambda)$$

and

$$\mathcal{G}_n^{(s)}(p+1, q; \lambda) - \mathcal{G}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{G}_k^{(s)}(p, q; \lambda).$$

Now, by combining these results and Proposition 13, we can derive the following recurrence relations:

$$\mathcal{G}_n^{(c)}(p, q; \lambda) = \frac{1}{\lambda+1} \left[2nC_{n-1}(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{G}_k^{(c)}(p, q; \lambda) \right]$$

and

$$\mathcal{G}_n^{(s)}(p, q; \lambda) = \frac{1}{\lambda+1} \left[2nS_{n-1}(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} \mathcal{G}_k^{(s)}(p, q; \lambda) \right],$$

where

$$\mathcal{G}_0^{(c)}(p, q; \lambda) = 0 \quad \text{and} \quad \mathcal{G}_0^{(s)}(p, q; \lambda) = 0.$$

Proposition 15 For every $n \in \mathbb{N}$, the following identities hold true:

$$\frac{\partial}{\partial p} \left\{ \mathcal{G}_n^{(c)}(p, q; \lambda) \right\} = n \mathcal{G}_{n-1}^{(c)}(p, q; \lambda),$$

$$\frac{\partial}{\partial q} \left\{ \mathcal{G}_n^{(c)}(p, q; \lambda) \right\} = -n \mathcal{G}_{n-1}^{(s)}(p, q; \lambda),$$

$$\frac{\partial}{\partial p} \left\{ \mathcal{G}_n^{(s)}(p, q; \lambda) \right\} = n \mathcal{G}_{n-1}^{(s)}(p, q; \lambda)$$

and

$$\frac{\partial}{\partial q} \left\{ \mathcal{G}_n^{(s)}(p, q; \lambda) \right\} = n \mathcal{G}_{n-1}^{(c)}(p, q; \lambda).$$

Proposition 16 If $\mathcal{G}_n^{(c)}(p, q)$ and $\mathcal{G}_n^{(s)}(p, q)$ are considered as polynomials in the variable p , then they are of degrees $n-1$ and $n-2$, respectively, and it is asserted that

$$\mathcal{G}_n^{(c)}(p, q; \lambda) = \frac{2n}{\lambda+1} p^{n-1} - \frac{2n(n-1)\lambda}{(\lambda+1)^2} p^{n-2} + \dots$$

and

$$\mathcal{G}_n^{(s)}(p, q; \lambda) = \frac{2n(n-1)q}{\lambda+1} p^{n-2} - 12 \binom{n}{3} \frac{q\lambda}{(\lambda+1)^2} p^{n-3} + \dots$$

Furthermore, if $\mathcal{G}_n^{(c)}(p, q)$ and $\mathcal{G}_n^{(s)}(p, q)$ are considered as polynomials in the variable q , then

$$\mathcal{G}_n^{(c)}(p, q; \lambda) = \begin{cases} \frac{(-1)^{\frac{n+2}{2}}}{\lambda+1} 2n(n-1) \left(p - \frac{\lambda}{\lambda+1} \right) q^{n-2} + \frac{2(n-3)(-1)^{\frac{n}{2}}}{\lambda+1} \\ \cdot \binom{n}{3} \left(p^3 - \frac{3\lambda p^2}{\lambda+1} + \frac{3\lambda(\lambda-1)p}{(\lambda+1)^2} - \frac{\lambda(\lambda^2-4\lambda+1)}{(\lambda+1)^3} \right) q^{n-4} + \dots & (n \text{ even}) \\ \frac{2n(-1)^{\frac{n-1}{2}}}{\lambda+1} q^{n-1} + \frac{6(-1)^{\frac{n+1}{2}}}{\lambda+1} \binom{n}{3} \left(p^2 - \frac{2\lambda p}{\lambda+1} + \frac{\lambda(\lambda-1)}{(\lambda+1)^2} \right) q^{n-3} + \dots & (n \text{ odd}) \end{cases}$$

and

$$\mathcal{G}_n^{(s)}(p, q; \lambda) = \begin{cases} \frac{2n(-1)^{\frac{n+2}{2}}}{\lambda+1} q^{n-1} + \frac{6(-1)^{\frac{n}{2}}}{\lambda+1} \binom{n}{3} \left(p^2 - \frac{2\lambda p}{\lambda+1} + \frac{\lambda(\lambda-1)}{(\lambda+1)^2} \right) q^{n-3} + \dots & (n \text{ even}) \\ \frac{(-1)^{\frac{n+1}{2}}}{\lambda+1} 2n(n-1) \left(p - \frac{\lambda}{\lambda+1} \right) q^{n-2} + \frac{2(n-3)(-1)^{\frac{n-1}{2}}}{\lambda+1} \\ \cdot \binom{n}{3} \left(p^3 - \frac{3\lambda p^2}{\lambda+1} + \frac{3\lambda(\lambda-1)p}{(\lambda+1)^2} - \frac{\lambda(\lambda^2-4\lambda+1)}{(\lambda+1)^3} \right) q^{n-4} + \dots & (n \text{ odd}). \end{cases}$$

Proposition 17 The following identities hold true:

$$\mathcal{G}_n^{(c)}(p, q; \lambda) = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \binom{n}{2k} \mathcal{G}_{n-2k}^{(c)}(p, 0; \lambda) q^{2k}$$

and

$$\mathcal{G}_n^{(s)}(p, q; \lambda) = \sum_{k=0}^{\lfloor \frac{n-2}{2} \rfloor} (-1)^k \binom{n}{2k+1} \mathcal{G}_{n-2k-1}^{(c)}(p, 0; \lambda) q^{2k+1},$$

in which

$$\mathcal{G}_{n-2k}^{(c)}(p, 0; \lambda) = \mathcal{G}_{n-2k}(p; \lambda)$$

and

$$\mathcal{G}_{n-2k-1}^{(c)}(p, 0; \lambda) = \mathcal{G}_{n-2k-1}(p; \lambda)$$

are the Apostol-Genocchi polynomials.

Proposition 18 If $n \in \mathbb{N}$, $\lambda > 0$ and m is an odd positive integer, then

$$\mathcal{G}_n^{(c)} \left(mp, q; \lambda^{\frac{1}{m}} \right) = m^{n-1} \sum_{k=0}^{m-1} (-1)^k \lambda^{\frac{k}{m}} \mathcal{G}_n^{(c)} \left(p + \frac{k}{m}, \frac{q}{m}; \lambda \right)$$

and

$$\mathcal{G}_n^{(s)} \left(mp, q; \lambda^{\frac{1}{m}} \right) = m^{n-1} \sum_{k=0}^{m-1} (-1)^k \lambda^{\frac{k}{m}} \mathcal{G}_n^{(s)} \left(p + \frac{k}{m}, \frac{q}{m}; \lambda \right).$$

6 New Taylor Type Series Involving the Apostol Type Numbers

$\mathcal{B}_{n,\lambda}$, $\mathcal{E}_{n,\lambda}$ and $\mathcal{G}_{n,\lambda}$

One of the applications of the relations (8), (9) and (10) is that they can be considered as the Taylor expansion of some special functions about $t = 0$ involving the Apostol type numbers $\mathcal{B}_{n,\lambda}$, $\mathcal{E}_{n,\lambda}$ and $\mathcal{G}_{n,\lambda}$. In other words, upon substituting the relations (11), (12) and (13) into the relations (8), (9) and (10), we find that

$$f_{\mathcal{B},\lambda}^{(c)}(t;p,q) = \frac{te^{pt}}{\lambda e^t - 1} \cos(qt) = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{B}_{n-k,\lambda} C_k(p,q) \right] \frac{t^n}{n!}, \quad (38)$$

$$f_{\mathcal{B},\lambda}^{(s)}(t;p,q) = \frac{te^{pt}}{\lambda e^t - 1} \sin(qt) = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{B}_{n-k,\lambda} C_k(p,q) \right] \frac{t^n}{n!}, \quad (39)$$

$$f_{\mathcal{E},\lambda}^{(c)}(t;p,q) = \frac{2e^{pt}}{\lambda e^t + 1} \cos(qt) = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{E}_{n-k,\lambda} C_k(p,q) \right] \frac{t^n}{n!}, \quad (40)$$

$$f_{\mathcal{E},\lambda}^{(s)}(t;p,q) = \frac{2e^{pt}}{\lambda e^t + 1} \sin(qt) = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{E}_{n-k,\lambda} C_k(p,q) \right] \frac{t^n}{n!}, \quad (41)$$

$$f_{\mathcal{G},\lambda}^{(c)}(t;p,q) = \frac{2te^{pt}}{\lambda e^t + 1} \cos(qt) = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{G}_{n-k,\lambda} C_k(p,q) \right] \frac{t^n}{n!} \quad (42)$$

and

$$f_{\mathcal{G},\lambda}^{(s)}(t;p,q) = \frac{2te^{pt}}{\lambda e^t + 1} \sin(qt) = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{G}_{n-k,\lambda} C_k(p,q) \right] \frac{t^n}{n!}, \quad (43)$$

where $C_k(p,q)$ and $S_k(p,q)$ are defined in (3) and (4). In order to evaluate the above functions for some specific parameters, we first prove the following identities:

$$C_k(p,p) = 2^{\frac{k}{2}} p^k \cos\left(\frac{k\pi}{4}\right), \quad (44)$$

$$S_k(p,p) = 2^{\frac{k}{2}} p^k \sin\left(\frac{k\pi}{4}\right), \quad (45)$$

$$C_k(0,q) = q^k \cos\left(\frac{k\pi}{2}\right), \quad (46)$$

$$S_k(0,q) = q^k \sin\left(\frac{k\pi}{2}\right) \quad (47)$$

and

$$C_k(p,0) = p^k \quad \text{and} \quad S_k(p,0) = 0. \quad (48)$$

It is easily observed that

$$\begin{aligned} \cos k\theta + i \sin(k\theta) &= (\cos \theta + i \sin \theta)^k \\ &= \sum_{j=0}^{\lfloor \frac{k}{2} \rfloor} (-1)^j \binom{k}{2j} (\sin \theta)^{2j} (\cos \theta)^{k-2j} \\ &\quad + i \sum_{j=0}^{\lfloor \frac{k-1}{2} \rfloor} (-1)^j \binom{k}{2j+1} (\sin \theta)^{2j+1} (\cos \theta)^{k-2j-1}. \end{aligned}$$

Thus, upon setting $\theta = \frac{\pi}{4}$, we obtain

$$\cos\left(\frac{k\pi}{4}\right) + i \sin\left(\frac{k\pi}{4}\right) = 2^{-\frac{k}{2}} \sum_{j=0}^{\lfloor \frac{k}{2} \rfloor} (-1)^j \binom{k}{2j} + i 2^{-\frac{k}{2}} \sum_{j=0}^{\lfloor \frac{k-1}{2} \rfloor} (-1)^j \binom{k}{2j+1},$$

which leads to the relations (44) and (45). The relations (46), (47) and (48) are also clear by noting the relations (3) and (4).

We now consider some particular illustrative examples.

Example 1 In (38), we take $p = 0$ and $q = 1$. Then, by noting (46) and (47), we obtain

$$\begin{aligned} f_{\mathcal{B},\lambda}^{(c)}(t;0,1) &= \frac{t}{\lambda e^t - 1} \cos t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \mathcal{B}_{n-k,\lambda} \cos\left(\frac{k\pi}{2}\right) \right] \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left[\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2k} \mathcal{B}_{n-2k,\lambda} (-1)^k \right] \frac{t^n}{n!}. \end{aligned}$$

Therefore, we have

$$\frac{t}{\lambda e^t - 1} \cos t = \sum_{n=0}^{\infty} \left(\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \binom{n}{2k} \mathcal{B}_{n-2k,\lambda} \right) \frac{t^n}{n!}$$

as well as

$$\frac{t}{\lambda e^t - 1} \sin t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \binom{n}{2k+1} \mathcal{B}_{n-2k-1,\lambda} \right] \frac{t^n}{n!},$$

$$\frac{1}{\lambda e^t + 1} \cos t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(-1)^k}{2} \binom{n}{2k} \mathcal{E}_{n-2k,\lambda} \right] \frac{t^n}{n!},$$

$$\frac{1}{\lambda e^t + 1} \sin t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \frac{(-1)^k}{2} \binom{n}{2k+1} \mathcal{E}_{n-2k-1,\lambda} \right] \frac{t^n}{n!},$$

$$\frac{t}{\lambda e^t + 1} \cos t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(-1)^k}{2} \binom{n}{2k} \mathcal{G}_{n-2k,\lambda} \right] \frac{t^n}{n!}$$

and

$$\frac{t}{\lambda e^t + 1} \sin t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \frac{(-1)^k}{2} \binom{n}{2k+1} \mathcal{G}_{n-2k-1,\lambda} \right] \frac{t^n}{n!}.$$

Example 2 Putting $p = q = 1$ in (38), we get

$$f_{\mathcal{B},\lambda}^{(c)}(t;1,1) = \frac{te^t}{\lambda e^t - 1} \cos t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n 2^{\frac{k}{2}} \binom{n}{k} \mathcal{B}_{n-k,\lambda} \cos\left(\frac{k\pi}{4}\right) \right] \frac{t^n}{n!}.$$

In a similar way, we have

$$\frac{te^t}{\lambda e^t - 1} \sin t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n 2^{\frac{k}{2}} \binom{n}{k} \mathcal{B}_{n-k,\lambda} \sin\left(\frac{k\pi}{4}\right) \right] \frac{t^n}{n!},$$

$$\frac{e^t}{\lambda e^t + 1} \cos t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n 2^{\frac{k}{2}-1} \binom{n}{k} \mathcal{E}_{n-k,\lambda} \cos\left(\frac{k\pi}{4}\right) \right] \frac{t^n}{n!},$$

$$\frac{e^t}{\lambda e^t + 1} \sin t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n 2^{\frac{k}{2}-1} \binom{n}{k} \mathcal{E}_{n-k,\lambda} \sin\left(\frac{k\pi}{4}\right) \right] \frac{t^n}{n!},$$

$$\frac{te^t}{\lambda e^t + 1} \cos t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n 2^{\frac{k}{2}-1} \binom{n}{k} \mathcal{G}_{n-k,\lambda} \cos\left(\frac{k\pi}{4}\right) \right] \frac{t^n}{n!}$$

and

$$\frac{te^t}{\lambda e^t + 1} \sin t = \sum_{n=0}^{\infty} \left[\sum_{k=0}^n 2^{\frac{k}{2}-1} \binom{n}{k} \mathcal{G}_{n-k,\lambda} \sin\left(\frac{k\pi}{4}\right) \right] \frac{t^n}{n!}.$$

7 Perspective

In this paper, we have introduced a new kind of parametric Apostol-Bernoulli polynomials, Apostol-Euler polynomials and Apostol-Genocchi polynomials by defining six special generating functions. We have systematically investigated some basic properties of each of these parametric Apostol-Bernoulli polynomials, Apostol-Euler polynomials and Apostol-Genocchi polynomials. As an interesting application, we have used such parametric polynomials to explicitly compute some new series of the Taylor type containing the Apostol-Bernoulli numbers $\mathcal{B}_{n,\lambda}$, the Apostol-Euler numbers $\mathcal{E}_{n,\lambda}$ and the Apostol-Genocchi numbers $\mathcal{G}_{n,\lambda}$.

Acknowledgements

The work of the second-named author was supported by the Alexander von Humboldt Foundation under the grant number: Ref. 3.4-IRN-1128637-GF-E.

References

[1] T. M. Apostol, On the Lerch zeta function, *Pacific J. Math.* **1** (1951), 161–167.
 [2] F. Avram and M. S. Taqqu, Noncentral limit theorems and Appell polynomials, *Ann. Probab.* **15** (1987), 767–775.
 [3] M. Cenkci and M. Can, Some results on q -analogue of the Lerch zeta function. *Adv. Stud. Contemp. Math. (Kyungshang)* **12** (2006), 213–223.
 [4] M. Cenkci, M. Can and V. Kurt, q -Extensions of Genocchi numbers, *J. Korean Math. Soc.* **43** (2006), 183–198.
 [5] R. Dere, Y. Simsek and H. M. Srivastava, A unified presentation of three families of generalized Apostol type polynomials based upon the theory of the umbral calculus and the umbral algebra, *J. Number Theory* **133** (2013), 3245–3263.

[6] Y. He, S. Araci and H. M. Srivastava, Some new formulas for the products of the Apostol type polynomials, *Adv. Difference Equations* **2016** (2016), Article ID 287, 1–18.
 [7] Y. He, S. Araci, H. M. Srivastava and M. Açıkgöz, Some new identities for the Apostol-Bernoulli polynomials and the Apostol-Genocchi polynomials, *Appl. Math. Comput.* **262** (2015), 31–41.
 [8] K. W. Hwang, Y.-H. Kim and T. Kim, Interpolation functions of q -extensions of Apostol’s type Euler polynomials, *J. Inequal. Appl.* **2009** (2009), Article ID 451217, 1–12.
 [9] L.-C. Jang and T. Kim, On the distribution of the q -Euler polynomials and the q -Genocchi polynomials of higher order, *J. Inequal. Appl.* **2008** (2008), Article ID 723615, 1–9.
 [10] T. Kim, On the q -extension of Euler and Genocchi numbers, *J. Math. Anal. Appl.* **326** (2007), 1458–1465.
 [11] Y.-H. Kim, W. Kim and L.-C. Jang, On the q -extension of Apostol-Euler numbers and polynomials, *Abstr. Appl. Anal.* **2008** (2008), Article ID 296159, 1–10.
 [12] D.-Q. Lu and H. M. Srivastava, Some series identities involving the generalized Apostol type and related polynomials, *Comput. Math. Appl.* **62** (2011), 3591–3602.
 [13] Q.-M. Luo, Fourier expansions and integral representations for the Apostol-Bernoulli and Apostol-Euler polynomials, *Math. Comput.* **78** (2009), 2193–2208.
 [14] Q.-M. Luo, The multiplication formulas for the Apostol-Bernoulli and Apostol-Euler polynomials of higher order, *Integral Transforms Spec. Funct.* **20** (2009), 377–391.
 [15] Q.-M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, *J. Math. Anal. Appl.* **308** (2005), 290–302.
 [16] Q.-M. Luo and H. M. Srivastava, Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, *Comput. Math. Appl.* **51** (2006), 631–642.
 [17] Q.-M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, *Appl. Math. Comput.* **217** (2011), 5702–5728.
 [18] M. Masjed-Jamei, M. R. Beyki and W. Koepf, A new type of Euler polynomials and numbers. *Mediterr. J. Math.* (in press).
 [19] M. Masjed-Jamei, M. R. Beyki and E. Omei, On a parametric kind of Genocchi polynomials, *J. Inequal. Spec. Funct.* (in press).
 [20] M. Masjed-Jamei and W. Koepf, Symbolic computation of some power-trigonometric series, *J. Symbolic Comput.* **80** (2017), 273–284.
 [21] M. Prévost, Padé approximation and Apostol-Bernoulli and Apostol-Euler polynomials. *J. Comput. Appl. Math.* **233** (2010), 3005–3017.
 [22] H. M. Srivastava, Some formulas for the Bernoulli and Euler polynomials at rational arguments, *Math. Proc. Cambridge Philos. Soc.* **129** (2000), 77–84.
 [23] H. M. Srivastava, I. Kucukoğlu and Y. Simsek, Partial differential equations for a new family of numbers and polynomials unifying the Apostol-type numbers and the Apostol-type polynomials, *J. Number Theory* **181** (2017), 117–146.
 [24] P. Tempesta, Formal groups, Bernoulli-type polynomials and L -series, *C. R. Math. Acad. Sci. Paris Sér. I* **345** (2007), 303–306.



H. M. Srivastava:

For this first-named author's biographical details, professional qualifications as well as scholarly accomplishments (including the lists of his most recent publications such as Journal Articles, Books, Monographs and Edited Volumes, Book

Chapters, Encyclopedia Chapters, Papers in Conference Proceedings, Forewords to Books and Journals, *et cetera*), the interested reader should look into the following Web Site:

<http://www.math.uvic.ca/faculty/harimsri>.



Mohammad Reza

Beyki defended his Ph.D. thesis in July 2018 at the K. N. Toosi University of Technology in Tehran (Iran) under the supervision of Assoc. Prof. Dr. Mohammad Masjed-Jamei. He has published and/or submitted for publication many papers

in the areas of Special Functions and Orthogonal Polynomials.



Mohammad

Masjed-Jamei is currently an Associate Professor of Applied Mathematics at the K. N. Toosi University of Technology in Tehran (Iran). His main research interests include Orthogonal Polynomials and Special Functions, Integral

Transforms, Mathematical Inequalities, Interpolation and Approximation, and Numerical Integration. He has published 111 papers up to now. At this time, as a Research Scholar of the Alexander von Humboldt Foundation of Germany, he is working at the University of Kassel in Kassel (Germany) on the extended Sturm-Liouville problems in symmetric spaces. Further details about him can be found at the following Web Site:

<https://wp.kntu.ac.ir/mmjamei/>.